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Quiz 6

1. Buck — Boost Converter. See figure
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a. (2 pts) What purpose does the buck boost . ; ia
converter serve in the system shown. 3 vy b
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b. (2 pts) What is the current — voltage relationship in the capacitor? What power supply type does it
behave like over short time periods?
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c. (2 pts) What is the current — voltage relationship in the inductor? What power supply type does it
behave like over short time periods?
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d. (2 pts) Sketch an% Ica{t_))el the switching function for the buck-boost converter
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e. (2 pts) Use the logic used to develop buck and boost DC-DC converters in class to develop duty cycle
relationship for the buck-boost converter shown in the figure.
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2. You have a project that returns $1000 and $2000 at the end T B
of years 1 and 2 respectively. Your initial investment is Simple payback (yr) = Pr————T
$2400 at the outset. Assume a 10% discount rate. Eneraydaliverad
s Energy@full pwr

a. (2.5 pts) Draw the cash flow diagram n_
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b. (2.5 pts) What is the net present value? FV =PV (1+i)
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3. You want to borrow $2000 at 6% rate to be repaid back in equal payments over 5 years.

a. (2.5 pts) Draw the cash flow diagram
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b. (2.5 pts) Compupt(e the annual payment. )S
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Bonus
, G ond
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b. (2 pts) Define Management ’QlLQ(A’;'?N ) QGSOUMQS-
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